<>
/ WOQOOD INSERT

BLACK POSTS

BP3366 or
BP4466

/ 4X4 POST
V.

/— METAL INSERT

3X3 POST
e

~41
USE APPROVED BOCA/ICC METAL INSERT

DECK RAILING

Post Insert Required

SB1134 (Swivel Bracket)

SS1 (2- #12 Screws)
‘“ Used In Stair Applications
BTB225 (Trim & Base Bracket) ‘

BLACK RAIL
BR2256
BR2258

GRS2256 /| GRS2258
(Guard Rail Stiffener)

Doy
/
SS1 ( 6- #12 Screws)

BS1 (4- 1" Screws)

ESl (1- #12 Screws)
BWM134

/ PICKET
r

TYP. RAILING DESIGN 3" & 4" POST




2x 23 Rail
Aluminum Railing

Stiffener _¥

Typ. Top Rail

33

NI

[~—2x25

- 4x4

/ZXZ%

|
A
y
w
0~

BSL160-6 - RAILING 36" WITH 3

Note: Use BOCA /ICC Approved Post Insert

Meets IBC, SBC & BOCA /ICC Code Requirements.

See Local Building Code Authority for Compliance

2

8

72

" SPACING - 1" x 1" PICKETS

— e

BILL OF MATERIALS

PART # QUAN. DESCRIPTION
BP4438 4x4x38

BR22572 2 2x21/2 x72
BPK11325 13 1x1x32.5"

OPTIONAL CAPS

(GRS2256 1 GUARD RAIL STIFFENER

BTB225 4 TRIM & BASE BRACKET

BLACKIine

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN

OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226

#. BSL 160-6 Web Site: http://www.blacklinehhp.com
REV : AUGUST 2014 DWG NUMBER @
scate : 1:1 SHEET 1 OF 1

Property of Blackline




2x 23 Rail
Aluminum Railing

Stiffener _¥

Typ. Top Rail

I -
2= 14
\~2x2%
331 ‘//f—lxl
38 °°2
4—4x4
/2x2%
- | - 7
~-—3g
- 96 >

BSL160-8 - RAILING 36" WITH 3

Note: Use BOCA/ICC Approved Post Insert
Meets IBC, SBC & BOCA/ICC Code Requirements.
See Local Building Code Authority for Compliance

14
8

" SPACING - 1" x 1" PICKETS

— e

BILL OF MATERIALS

PART # QUAN. DESCRIPTION
BP4438 4x4x38

BR22596 2 2x21/2x96

BPK11325 18 1x1x32.5"

OPTIONAL CAPS

GRS2258 GUARD RAIL STIFFENER

BTB225 4 TRIM & BASE BRACKET

BLACKIline

HIGH HEAT PERFORMANCEE

ORNAMENTAL DESIGN

OFFICE: (360) 398- 1824
1325 Marietta Ave. Bellingham, WA 98226

#. BSL 160-8 Web Site: http://www.blacklinehhp.com
REV : AUGUST 2014 DWG NUMBER _:
scatE : 1:1 SHEET 1 OF 1

Property of Blackline




38" to 42"
34" to 36"

—2x2%
1x1

| —4x4

/—2X22

32 to 34 degree angle

11"

BSL-160-6S - STAIR RAILING 36" WITH 3 R SPACING

1" x 1" PICKETS

Note: Use BOCA/ICC Approved Post Insert
Meets IBC, SBC & BOCA/ICC Code Requirements.
See Local Building Code Authority for Compliance

2x 27 Rai
Aluminum Railing

Stiffener _L

e

Typ. Top & Bottom Rail

BILL OF MATERIALS

PART # QUAN. DESCRIPTION
BP4438 4x4x38
BR22572 2 2x212x72
BPK11325 11 1x1x32.5"

OPTIONAL CAPS

GRS2256 2

GUARD RAIL STIFFENER

BTB225S 4

TRIM & BASE STAIR BRACKET

Zn

BLACKIline

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN

#: BSL 160-6S

OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226
Web Site: http://www.blacklinehhp.com

REV [ AUGUST 2014

DWG NUMBER .

Property of Blackline

SHEET 1O0OF1




A
Y

A\

39" to 42"
34" to 36"

Aluminum Railing

Stiffener l

¥2x2l

1x1

| —4xa

L —2x27

BSL-160-8S - STAIR RAILING 36" WITH 3

1" x 1" PICKETS

Note: Use BOCA/ICC Approved Post Insert
Meets IBC, SBC & BOCA/ICC Code Requirements.
See Local Building Code Authority for Compliance

!

8" SPACING

32 to 34 degree angle

2x2%Rall

e

Typ. Top & Bottom Rail

BILL OF MATERIALS

PART # QUAN. DESCRIPTION
BP4438 4x4x38
BR22596 2 2x21/2 x96
BPK11325 15 1x1x32.5"
OPTIONAL CAPS
GRS2258 2 GUARD RAIL STIFFENER
BTB225S 4 TRIM & BASE STAIR BRACKET

BLACKIline

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN OFFICE: (360) 398-1824

1325 Marietta Ave. Bellingham, WA 98226

#. BSL 160-8 S Web Site: http://www.blacklinehhp.com
REV : AUGUST 2014 DWG NUMBER_:
scALE : 1:1 SHEET 1 OF 1

Property of Blackline




/

SET SCREWS
3 Screws per Rail

\

Aluminum Railing

Stiffener _¥

NI

33

NI

[
Y
w

[eeJEN]

BSL161-6 - RAILING 36" WITH 3

Note: Use BOCA /ICC Approved Post Insert
Meets IBC, SBC & BOCA /ICC Code Requirements.
See Local Building Code Authority for Compliance

001~

72

'SPACING - 1" x 1" PICKETS

2x 23 Rail

e

Typ. Top Rail BILL OF MATERIALS
PART # QUAN. DESCRIPTION
BP4438 4x4x38
BR22572 2 2x21/2 x 72
1 BR11346 1 1x13/4x72
[~~—2x25
2 BPK11325 13 1x1x325"
3
[— 1 x1 2 OPTIONAL CAPS
GRS2256 1 GUARD RAIL STIFFENER
—1x1
BTB225 4 TRIM & BASE BRACKET
—4 X4 Ss1 2 #12 x 1" FLAT HEAD SCREWS
1 BWM134 2 WALL MOUNT
L -2Xx2 E

BLACKIline

HIGH HEAT PERFORMANCEE

ORNAMENTAL DESIGN

OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226

Property of Blackline

#: BSL 161-6 Web Site: http://www.blacklinehhp.com
REV : AUGUST 2014 DWG NUMBER _:
scate : 1:1 SHEET 1 OF 1




2x 23 Rail
Aluminum Railing

Stiffener _¥

e

SET SCREWS Typ. Top Rall BILL OF MATERIALS

4 Screws per Rail PART # QUAN. DESCRIPTION

/ \ BP4438 4 x4 %38
‘E BR22596 2 2x21/2 x96
/ \ ’

T 3 =|]]
1 BR11348 1 1x 13/4 % 96
10 > ) ~ 5y 2 % X x
* / BPK11325 18 1x1x325
. i 1 i i I —1x1 % OPTIONAL CAPS
GRS2258 1 GUARD RAIL STIFFENER
8 332 L +—1x1
BTB225 4 TRIM & BASE BRACKET
«4—4X4 SS1 2 #12 x 1" FLAT HEAD SCREWS
1 BWM134 2 WALL MOUNT
L -2x2 E
/
" i . <
- 3 8
96 >
HIGH HEAT PERFORMANCE5
BSL161-8 - RAILING 36" WITH 3 L SPACING - 1"x 1" PICKETS ORNAMENTAL DESIGN |  (7PiC (580 o oee
-0 - 8 - X 1325 Marietta Ave. Bellingham, WA 98226
Note: Use BOCA /ICC Approved Post Insert #. BSL 161-8 Web Site: http://www.blacklinehhp.com
Meets IBC, SBC & BOCA /ICC Code Requirements. REV . AUGUST 2014 DWG NUMBER_;
See Local Building Code Authority for Compliance scate : 1:1 SHEET 1 OF 1
Property of Blackline




38" to 42"
34" to 36"

3 Screws per Rail

SET SCREWS

2x2 2 Rail

2

Aluminum Railing

BSL161-6S - STAIR RAILING 36" WITH 3
1" x 1" PICKETS

Note: Use BOCA /ICC Approved Post Insert
Meets IBC, SBC & BOCA /ICC Code Requirements.
See Local Building Code Authority for Compliance

Z"
8

32 to 34 degree angle

SPACING

— e
N —2x2l
2
T t—1x1 : Typ. Top & Bottom Rail
1x1
/— 4X4
A oyol BILL OF MATERIALS
-4 2 PART # | QUAN. DESCRIPTION
BP4438 4x4x38
BR22572 2 2X2112X72
BPK11325 11 1x1x32.5
BR11346 1 1x13/4x72
OPTIONAL CAPS
GRS2256 2 GUARD RAIL STIFFENER
BTB225S 4 TRIM & BASE STAIR BRACKET
ssi 4 #12 x 1" FLAT HEAD SCREWS
SB1134 2 SWIVEL BRACKET
BWM134 2 WALL MOUNT

BLACKline

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN

OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226
#: BSL 161-6S Web Site: http://www.blacklinehhp.com

REV : AUGUST 2014 DWG NUMBER

Property of Blackline

SHEET 10F1




SET SCREWS
4 Screws per Rail

38" to 42"
34" to 36"

BSL-161-8S - STAIR RAILING 36" WITH 3
1" x 1" PICKETS
Note: Use BOCA/ICC Approved Post Insert

Meets IBC, SBC & BOCA/ICC Code Requirements.
See Local Building Code Authority for Compliance

32 to 34 degree angle

Z'l

g SPACING

—2%x23 Typ. Top & Bottom Rail
3
—1x1 2
1x1
/— 4x4
1 BILL OF MATERIALS
= 2X2 > PART # | QUAN. DESCRIPTION
BP4438 4x4x38
BR22596 2 2x21/2x96
BPK11325 |15 1x1x 325
BR11348 1 1x13/4x96
OPTIONAL CAPS
GRS2258 2 GUARD RAIL STIFFENER
BTB225S 4 TRIM & BASE STAIR BRACKET
SS1 4 #12 x 1" FLAT HEAD SCREWS
SB1134 2 SWIVEL BRACKET
BWM134 2 WALL MOUNT

BLACKIline

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226

#. BSL 161-8S Web Site: http://www.blacklinehhp.com

REV . AUGUST 2014 DWG NUMBER

scalE 1 1:1
Property of Blackline

SHEET 1 OF 1




3 SET SCREWS

Aluminum Railing

4
LDIOIOIOIOIOIOIRIOION

1.
2x22Ra|I

Typ. Top Rall

72

BSL-164-6 RAILING 36" WITH 4" SPACING AND 4" RINGS- 1" x 1" PICKETS

Note: Use BOCA /ICC Approved Post Insert
Meets IBC, SBC & BOCA /ICC Code Requirements.
See Local Building Code Authority for Compliance

BILL OF MATERIALS
PART # QUAN. DESCRIPTION
BP4438 4x4x38
BR22572 1 1 x13/4x72
BR2256 2 2x21/2x72
BPK11325 13 1x1x32.5"
OPTIONAL CAPS
BR4 12 4" 0.D. RINGS
GRS2256 1 GUARD RAIL STIFFENER
BTB225 4 TRIM & BASE BRACKET
BWM134 2 WALL MOUNT
Ss1 2 #12 x 1" FLAT HEAD SCREWS

BLACKIline

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN

OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226

#. BSL 164-6 Web Site: http://www.blacklinehhp.com
REV : AUGUST 2014 DWG NUMBER _:
scatE : 1:1 SHEET 1 OF 1

Property of Blackline




Aluminum Railing

Stiffener _¥

4 SET SCREWS

|\

ele]e]%e]e]e)e|0]e 000|000

2x2%Rail

e

Typ. Top Rail

BILL OF MATERIALS

96

PART # QUAN. DESCRIPTION
BP4438 4x4x38
BR22596 1 1x13/4x96
\ 1 BR2258 2 2x21/2 %96
2x2 >
BPK11325 |18 1x1x32.5"
\ 1x13 OPTIONAL CAPS
4
1x1 BR4 17 4" 0.D. RINGS
_—4x4
- GRS2258 1 GUARD RAIL STIFFENER
|_— 2x2 > BTB225 4 TRIM & BASE BRACKET
/
BWM134 2 WALL MOUNT
— ss1 2 #12 x 1" FLAT HEAD SCREWS

BSL-164-8 RAILING 36" WITH 4" SPACING AND 4" RINGS- 1" x 1" PICKETS

Note: Use BOCA /ICC Approved Post Insert
Meets IBC, SBC & BOCA /ICC Code Requirements.
See Local Building Code Authority for Compliance

BLACKIline

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN

OFFICE: (360) 398-1824

1325 Marietta Ave. Bellingham, WA 98226

#. BSL 164-8 Web Site: http://www.blacklinehhp.com
REV : AUGUST 2014 DWG NUMBER :
scAalE : 1:1 SHEET 1 OF 1

Property of Blackline




2x 275 Ral

Aluminum Railing

Stiffener _¥

e

Typ. Top Rail

! 2J=i : Wl
1
‘ 8§ v 2z H ‘l\
3

WV 3 SET SCREWS

X

PART # QUAN. DESCRIPTION
BP4438 4x4x38
BR22572 2 2x212x72

~— 2 x 2%, BR11346 1 1x13/4x72

~_ 3 BPK11325 |14 1x1x325 BELLY

1x1 4 OPTIONAL CAPS
GRS2256 1
1x1 GUARD RAIL STIFFENER

BTB225 4 TRIM & BASE BRACKET

| — 4x4
BWM134 2 WALL MOUNT

1 ss1 2 #12 x 1" FLAT HEAD SCREWS
|_— 2x2 >

A
Y
w

oI~

BSL165-6 - RAILING BELLY PICKET - 36" WITH 3 L SPACING

8
1" x 1" PICKETS
Note: Use BOCA /ICC Approved Post Insert

Meets IBC, SBC & BOCA/ICC Code Requirements.
See Local Building Code Authority for Compliance

BLACKIline

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN

#. BSL 165-6

OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226
Web Site: http://www.blacklinehhp.com

REV : AUGUST 2014

DWG NUMBER _:

scalE : 1:1

Property of Blackline

SHEET 1 OF 1




2x23 Rail
Aluminum Railing

Stiffener _;

Typ. Top Rall

SET SCREWS
4 Screws per Rail

/ \

BILL OF MATERIALS

A)

[T T T T T TR T2

33

PART # QUAN. DESCRIPTION
— BP4438 4x4x38
‘ﬂ N~ 1 BR22596 2 2x21/2%96
BR11348 1 1x13/4x96
——1x13
4 BPK11325 |19 1x1x32.5" BELLY
OPTIONAL CAPS
l«——1—1x1
GRS2258 1 GUARD RAIL STIFFENER
| — 4x4 BTB225 4 TRIM & BASE BRACKET
A
BWM134 2 WALL MOUNT
| _—2x25
L1 2 Ss1 2

#12 x 1" FLAT HEAD SCREWS

A

|
\
w
[e=]EN]

96

BSL165-8 - RAILING BELLY PICKET - 36" WITH 3 L SPACING

1" x 1" PICKETS

Note: Use BOCA /ICC Approved Post Insert
Meets BOCA /ICC, & IRC Code Requirements.
See Local Building Code Authority for Compliance

8

BLACKIine

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN

OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226

Property ot Blackline

#. BSL 165-8 Web Site: http://www.blacklinehhp.com
REV : AUGUST 2014 DWG NUMBER _:
scatE : 1:1 SHEET 1 OF 1




Typ. Stair Rall

36
[} /
|_Post Tower—" |
38" to 42" 4
|
34" to 36"

Stiffener required in Posts and Rails

BSL-169-6 STAIR RAILING

Z

OTES:

NP

abhw

12" BLACK TUBE

SUPPORT BRACKET

21/2" x 2 1/2" x 14 GA.
STEEL TUBE

"x 3"x 1/8" VINYL POST

41/2" x4 1/2" x 1/2"
STEEL BASE

| ANCHOR EMBEDMENT 3"
DRILL 3/8" HOLE x 3 1/2" DEEP
USE 3/8" x 4" ANCHOR

. MEETS BOCA/ICC & IRC REQUIREMENTS.
. Screws for Rail Bracket

6each #12-14 x 1" self drilling, S.S Flathead Phillips screws
and 4 each #8 x 1" S.S. screws

. STEEL TUBE TO BE ASTM A500 GRADE A STEEL
. HOT DIPPED GALVANIZED STEEL & ANCHORS
. ANCHOR TO HAVE ALLOWABLE WORKING PULLOUT

STRENGTH NOT LESS THEN 1950 POUNDS. PREPARE
SURFACES, CLEAN HOLES, INSTALL ANCHORS AND
TIGHTEN. DO NOT OVER TIGHTEN

. IMPORTANT:

CONSULT LOCAL CODE OFFICIALS FOR BUILDING
CODE REQUIREMENTS

BILL OF MATERIALS

PART # QUAN. DESCRIPTION

BP4438 2 4x4x38

BRP11566 |1 11/2x72

BTB115 2 TUBE SUPPORT BRACKET
BPC33 2 PYRAMID CAP
TRS11566 |1 TUBE RAIL STIFFENER
CTC3336Galv]2 GALV. POST TOWER
ss1 10 #12 x 1" FLAT HEAD SCREWS
8 3/8" x 4" CONCRETE ANCHORY

BLACKIline

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN OFFICE: (360) 398-1824

#. BSL 169-6 Web Site: http://www.blacklinehhp.com
REV : AUGUST 2014 DWG NUMBER :
scAalE : 1:1 SHEET 1 OF 1

1325 Marietta Ave. Bellingham, WA 98226

Property of Blackline






